
����� ��	
�

� 
��������

� ������� ��� �
� � � � � � � � � � � � � � � � � � � � � � � �����	
 ���
� ������� ������ ���
�� � � � � � � � � � � � � � � � � � � � � � � ������� ���
� ������� ������ ���

�� �	�� ���
����� � ��! "# ��� $"	� �
�� � � � � � � � � � � � � � � � � � � � � � � � � � ��� ��	� �� �� ���� ���
!! � � � � � � � � � � � � � � � � � � � � � �"��#� $�% &�' (�� )* +��� ���� ���

�% 	&'()' ��� *+� ��� ,- .('" $"	� �(/ .0
 �
!, � � � � � � � � � � � � � �"��#� $�% &�' (�� )* +��� ���� -.�/ (� +0�1% ��!
�� � � � � � � � � � � � � � � � �"��#� $�% &�' (�� )* +��� ���� -.�/ 2��3 ��!
4� � � � � � � � � � � �"��#� $�% &�' (�� )* +��� ���� �"�. (�� ��5�6 �7�/ !�!
4� � � � ��81 �AG(R)9�:0 �� -* �;��/�� (�� )* +��� �<� �3 (���� (�� ��	
 ��!

1� 2�"	�

13 4!�5&�" � 4�
�� �����.6"#

%7 4�
�� � 4!�5&�" �����.6"#

%1 �'�8�




��������
6 +.�3 =	> .�7 �/ �0 (.��$ -���. �?��0 �
� ���� ��5�6 $� +.��1%� �/ (�@> (��0�17�% �AB�C�

�D%� +�E �1E�� �8��$ F�� 0. G0�� / HI���
J/ K%�� �L,, )�% 0. 0�/ F�B6� G��/ ���� ���
� 6 ���M/�> G�� ��	
 F�/ N�@�0� G0��O�/ +���
�<� PD%� +.�. ���0� -�. �?��0 F�� �3 ����A� 0. �D%� +�E Q�C�R S,T U>��V G� �B��� �W �

+����� R ��	
 ��� ��	� �� �� ���� �3 ��� +�E +.�. 0��O ���� J� 9�:0 -��8� �/ ��	
 ���8�
F�� 0. F���/�8/ �xy = � ��� �;8� 6 ��� P��06�M� y 6 x X��<1� 9Y0 6. ���� F�� 0. 6 .�E ��

�D%� 06�M� �"�. 9�:0 �<� �/ ��� 9Y0 ����
� -�%0��� �LLL )�% 0. �3 F�� �� PDZ�� ���.� G�"�. -���. �?��0 K%�� ���� F�� �AB�C�
���� ��	
 �/ �1 /�6 ��� ��	� �� �� ���� (��/ (���> [��A� (� �B��� �W ! -�1 "8���B 6
��	
 ����� ��� G�� ��	� �� �� �<� ���<M� P���� 9�:0 [��A� F�� 0. ���.�. �:�0� ���M/�>

�xy = � ��� �;8� 6 ��� ��06�M� y 6 x X��<1� 9Y0 6. 6 �81 �
�3 .�E [��A� �Z��� D%� �1;/ F���/�8/ ������8� $� (� ���<M� �� �� )* +��� P�� ��	
 ���
� 0.
�0 �Z��� �\�� )�% 0. �A3�0 6 G.�@;/ ��8E�/ R ��	
 G�� )* +��� P���8� G�> �/ -* 9�:0 �3
D�]� �/ 6 .�E �� �1��R ���M/�> ��	
 �"��#� $�% &�' G�� )* +��� ���� -* �/ �3 ��.�3[��A�
A(R)� = A(R) − {�} ���<M� �/��/ ���� F�� 9�:0 ���<M� �.�E �� +.�. -�^� AG(R)
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J�� P_���� J�� P(.�@;/ P(�@3� P0�' �B�� P�\�� )�% 0. �3 F�� �� PDZ�� ���.� �B��� F�� �AB�C�
���M/�> ��	
 �"��#� $�% &�' (�� )* +��� ���� (�8/ +.0 RS�T U>��V P�B��� 0. � �6�E 6 �;�

���.�. 0��O 2�	`� .0�� �0
�� ���M/�> ��	
 �"��#� $�% &�' (�� )* +��� ���� �%0�/ 6 2�	`� ���� -���' F�� �	�� ���
�/ ���� -���' F�� �	3 0�17�% �D%� �1Z�� 0��O �%0�/ .0�� 2��3 0�W �/ ��% 2aZ 0. �3 �E�/

��E�/ �� ��$ H0��
�� ���� ���
� $� ������� ������ X�� 6 �� ��	
 ���
� $� ����1/� [�0�A� 6 ������ )6� 2aZ 0.
���� 2��E (�@> (��0�17�% �/ �1 /�6 (�� ���� ���� -���' F�� $� �6. 2aZ ����. �� ���0� �0
�3b �/ 6 +.�3 [��A� �0 ���M/�> ��	
 �"��#� $�% &�' (�� )* +��� ���� X�� 6 ��� ��	� �� ��
0. (06�? (���cO 2�	`� �/ ��% 2aZ 0. ��M���% ���$�.�' �� d`@� F�� 0. ���cO $� (.��A�

���$�.�' �� ���M/�> ��	
 �"��#� $�% &�' (�� )* +��� ���� e�/
G�� ��	� �� �� ���<M� ���� +�E f�Z ���M/�> 6 0��#� �� ��	
 ���<� ���� -���' F�� �%��% 0.
)* +��� �<� ���<M� 6 Max(R) �/ �0 -* )�<�X3�� G�� )* +��� ���<M� 6 Z(R) �/ �0 ��	
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 E��F�'
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C0�+��� @"	&'0 � "
 E��F�'
 G#0

g��/�3�i e�3�ig

����H5I �'	J� 4B��(H� K����� �C�
����� ��	
� �������� �� x ∈ R �
�� ����� �	����� �� ���� R ���� ��� C�C�C� L'	MB

�x� = x

��� ��	
� ����� ��	 �� x ∈ R �
�� ����� �	����� �� ���� R ���� ��� C�C�C� L'	MB
�xn = � �� ��
� �� ���� � ��! !
�" n ∈ N ��#�$ �!��

%&�� ������ R ���� '� ��
()! �� ��
*�$�	' X " +, ��	� -	 I ���� ��� C�C�C� L'	MB
.�
& �� (I : X) ��/�0

(I : X) = {r ∈ R | r.X ⊆ I} = {r ∈ R | r.x ∈ I ∀x ∈ X}

��/�0 %&�� 1I = � 2�3 4)�� �! �!
� �$ 5	�60
(� : X) = {r ∈ R | r.X = �} = {r ∈ R | r.x = � ∀x ∈ X}

�!
� �$ �!�! 7�8# AnnR(X) �� " !
� �$ ���$�# X '�9 :
;

R ���� !
�� 
��� ����� R '� x �
������� �	����� �� ���� R ���� ��� C3C�C� L'	MB
� ��! !
�" � �= y ∈ R ��#�$ ��
�� 1�<	! .��=� �� ���� !�� �� �>& ����� !
� �$ ���$�#

����! �$ 7�8# Z(R) �� �� R �>& ��� ���� ?
/�$ ��
*�$ �xy = � �� ��
� �� ����
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�� �� �� ���� �	�� +, ��	� �*� ��
*�$ Σ " ���� -	 R ���� ��� C�C�C� K�
Σ +�*�/��$ �
�� �� " 49� +�*�/��$ �
�� ����! Σ ��
*�$ .�
& @	� �! �49� �>& ����
�49� +"� ��� +, ��	� '� ���* �� R �>& ��� ���� ?
/�$ ��
*�$ @	������ �49� +"� +, ��	� -	

���8�@/ �0 SjT U>�� $� )6� 2aZ �� F��<� ����
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A� 1+
*� �B��� �� 4=/# ����� ��	
� ��������� �� R ���� '� M +, ��	� C1C�C� L'	MB
����� R ��9 ��� +, ��	� ��
*�$ +�*�/��$

49� R ���� +�*�/��$ ��� +, ��	� �*� C�� �� ����� R ���� ������ ������ C%C�C� L'	MB
����! �$ 7�8# J(R) �� �� 7, "

�8A� PD � X�� R )6� )* +��� J� R ��	
 $� )�<� 3�� )* +��� �� CNC�C� ��)�
��� )* +��� )�k� -��8� �/ �D �� D%0. +0��<� -* l#� )�
 F�� �/ �Max(R) ⊆ Spec(R)

�D �� )�<� 3�� �3 D%� �B6� )* +��� m�`� .���� ��	
 0.

�� R '� �), ��	� I ���� ��� " ���� +"�$D R -	 M " ���� -	 R ���� ��� COC�C� ��PQ
I .�
& @	� �! 149� +�*�/��$ M �>&�# �&��� ��� '�9 :
; �*� 7��$ �! �� ���� �� �#
�

�49� +"� +, ��	� -	

���8�@/ �0 S�4T U>�� $� � ��cO ����
�

4 !"#�� $�% ���� -	 +�*�/��$ +, ��	� ���� $ !��60 �� R �	����� ���� C�7C�C� L'	MB
�!
� �$ ���$�#

���$�# � !"#�� ���� -	 M +�*�/��$ +, ��	� -	 ���E! �� R �	����� ���� C��C�C� L'	MB
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.�
& @	� �! 1���� R +, ��	� I " �	����� ���� -	 R ���� ��� C��C�C� L'	MB
√
I = {r ∈ R| ∃n ∈ N; rn ∈ I}

:
; +�F	!�� 2�3 4)�� 7�
�� �� �!��! ?�# I ������ " !
� �$ %$�� �� I �� 49� R '� �), ��	�
G�	��! HE�" �! ����� �$ R ���� +"� ��� +, ��	� C�� �� R ����

Nil(R) =
√� = {r ∈ R| ∃n ∈ N : rn = �}.

���8�@/ �0 S�T U>�� $� ���! [��A� 6 �B ����
�

7�8# V ar(I) !�*# �� �� I j
&� �' ����� R �	����� ���� ��9 +, ��	� I ���� ��� C��C�C� K�
.�
& �� " ���! �$

V ar(I) = {P ∈ Spec(R) : I ⊆ P}

�	��! .�
& @	� �! ����� �$ 5	�60
√
I = ∩P∈V ar(I)P.

���8�@/ �0 S�T U>�� $� �,�! �B ����
�

PV ar(I)H0�� F�� 0. P�E�/ R ���M/�> ��	
 +�% )* +��� I ��83f�Z C�3C�C� L'	MB # ��PQ
��� ,- .('" �0 V ar(I) )�<�8�� (���c� �.0�. D�B�<^� �C/�0 �/ D@ � )�<�8�� �c� J� 2O��

)�<�8�� )6� )* +��� �� P�E�/ ����� R ��� ����. �� -�^� Min(I) �/ 6 ����� �� I ,�8�/�� ,#"
�0 R )�<�8�� )6� (�� )* +��� �<� ���<M� ������ �� R ,�8�/�� ,#" ,- .('" J� �0 ��� )* +���

����. �� -�^� Min(R) �/

���8�@/ �0 S�T U>�� $� 4��! ��cO ����
�
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�	��! .�
& @	� �! 1���� R �	����� ���� ��9 +, ��	� I ���� ��� C��C�C� �R���
√
I = ∩P∈Min(I)P.

���8�@/ �0 S�T U>�� $� 4��! �M�1� ����
�

��� 7, 1I = � ���! ���E 1IJ�I�I �) �! ��� C�1C�C� �R���
√� = ∩P∈Spec(R)P = ∩P∈Min(R)P.

���8�@/ �0 S�T U>�� $� �L�! �M�1� ����
�

�! ������ R '� �	�� +, ��	� I�, ..., In " R �	����� ���� +"� +, ��	� P ���� ��� C�%C�C� K�
G�#'�� �� �	' ��� ���K� .�
& @	�

�P ⊇ Ij 1� � j � n �� ��'� �� �I

�P ⊇ ∩n
i=�Ii �J

�P ⊇ ∏n
i=� Ii �L

���8�@/ �0 S�T U>�� $� 44�! �B ����
�

�<	! .��=� �� �Nil(R) = � ����� 1��	
� ,
&(�� )��� �� R �	����� ���� C�NC�C� L'	MB
����� �>&�# 7�
0 :
; �
�� �E��

.�
& @	� �! ����� R � ��	 M��� ���� '� �)
$D���� $ +, ��	� -	 I N��� ��� C�OC�C� �R���
�Ann(I) �= � ��� �O�0 " ��� 49� R +�*���$ +"� +, ��	� -	 �! +
*8$ I

���8�@/ �0 S��T U>�� $� !�� �M�1� ����
�

�	 .�
& @	� �! ����� R ���� +�*���$ PQ +, ��	� -	 I ���� ��� �* '�
� $+, C�7C�C� K�
�I = Re �� ��
� �� !��! !
�" e ∈ I 7�
0!
3 �
�� �	 I� = �

,
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���8�@/�0 S��T U>�� $� ����\ �B ����
�

Vd(q) ��� �R>&��� !��60 �� " qd−�
q−� �� 49� ����� Vd(q) ��6� -	 ����A��	' !��60 C��C�C� K�
�d = dimF (V ) " F 7���$ �&��� !��60 q 1Vd(q) �! �49� �����

���8�@/ �0 S!T U>�� $� !�� �B ����
�

�� 49� ����� Vd(q) ��6� k ����A��	' !��60 k ∈ {�,�, ..., d} �� ���� C��C�C� ��PQ
(qd −�)(qd−� −�)...(qd−k+� −�)

(qk −�)(qk−� −�)...(q −�) .

(�cZ��$ J� U ��83 f�Z ����. �� -�^� Nk �/ �0 Vd(q) (�A/ k (���cZ��$ .��A� ����
�
�/ ��83 �� F��A� ��1/� �Nk−� �/ D%� �/��/ U (�� e�n1�� .��A� �D%� Vd(q) $� (�A/ k − �
0. ����� (��0�.�/ .��A� �.�. �A%�� Vd(q) $� (�A/ k (�cZ��$ J� �/ �0 U -��� �� o��W �8p
+�E ��B�� (�cZ��$ -.6XZ� �/ qqd − � − (qk−� − �) = qd − qk−� �/ D%� �/��/ Vd(q) − U

(.��A� ��� �.�E �� 2��
 Vd(q) $� (�A/ k (�cZ��$ J� PU �/ ��0�.�/ F�� $� J� �� K%��
.��A� P������ �B �/ �8/ ���83 �� �@%�`� �0 .��A� F�� -�83� q�8�6� � �� �/ ���cZ��$ F�� $�
(��0�.�/ .��A� 6 qk−�

q−� �/ D%� �/��/ W� (�A/ k (�cZ J� $� W� (�A/ k − � (���cZ��$
��B�� (�cZ��$ -.6XZ� �/ �qk−�− (qk−�−�) = qk− qk−� �/ D%� �/��/W�−W� 0. �����
(���cZ��$ .��A� F���/�8/ �.�E �� 2��
 W� (�cZ W� �/ (��0�.�/ F�� $� J� �� K%�� +�E

�/ D%� �/��/ (6� �
qk −�
q −� (qk − qk−�) = qk−�(qk −�)

�M�1� 0.
Nk = Nk−� × qd − qk−�

qk−�(qk −�)
.�E �� 2��
 -* $� �3

Nk = Nk−� × qd−k+� −�
qk −�

�.�E �� D/�r ��cO k (60 ���1%� $� +.��1%� �/ 6
,
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�6� �� V ���!�� ��A� -	 ����A��	' !��60 ���6$ �� Gd ���� ��� C��C�C� 	?SB
�	��! .�
& @	� �! ����� Fq ���� $ 7���$ �"� d

Gd = �+Σ�≤k≤d

(qd −�)(qd−� −�)...(qd−k −�)
(q −�)(q� −�)...(qk −�) .

���8�@/ �0 P������ ��cO ����
�

-	 M ��	
� ����� R �	����� ���� �"� �)"�$ M ���� ��� C�3C�C� L'	MB
G��� S�& �	' +!�6$ T	��� �! ��� 49� L-
��% �'.�/R

" ���� M ��� +"�$�	' '� �� �!�
#�3 (Gi)i∈N ����� �I
G� ⊆ G� ⊆ ... ⊆ Gi ⊆ Gi+� ⊆ ...,

��� 7,
∃k ∈ N : ∀i ∈ N; Gk = Gk+i.

����� +
*� �B��� �� 4=/# �������� 
A� %$�� M ��� +"�$�	' '� �O0�# ��
*�$ �� �J

���� �������� 0
1 �� ?"! U�� " M ��� +"�$�	' ���� -��"� 
�2%3 0
1 �� +"� U��
���	
� M ��� +"�$�	'

-	 M ��	
� ����� R �	����� ���� �"� �)"�$ M ���� ��� C��C�C� L'	MB
G��� S�& �	' +!�6$ T	��� �! ��� 49� �\ !4�� 5 �'.�/R

" ���� M ��� +"�$�	' '� �� �!�
#�3 (Gi)i∈N ����� �I
G� ⊇ G� ⊇ ... ⊇ Gi ⊇ Gi+� ⊇ ...,

��� 7,
∃k ∈ N : ∀i ∈ N; Gk = Gk+i.
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*� �B��� �� 4=/# ����4�� 
A� %$�� M ��� +"�$�	' '� �O0�# ��
*�$ �� �J

+"�$�	' ���� ����4�� 0
1 �� VJW U�� " M ��� +"�$�	' ���� !+'6% 
�2%3 0
1 �� VIW U��
���	
� M ���

�� ����� ��0
# +"�$D R 7�
�� �� ��� ��	
� ��-
��% 
��7 -	 �� R ���� C�1C�C� L'	MB
����� ���0�, +"�$D R 7�
�� �� ��� ��	
� �� !4�� 5 
��7 �� R ���� @��Q

�D%� ��s' -60�6 �� 6 ��� ��	� �� �� P�8��0* ��	
 J� 0. �a8� �� C�%C�C� ��)�

�49� +�*�/��$ R +"� +, ��	� �� .�
& @	� �! ����� ���0�, ���� R ���� ��� C�NC�C� K�

���8�@/ �0 S�T U>�� $� !L�, �B ����
�

+�*�/��$ +, ��	� ���� $ !��60 �O�0 R .�
& @	� �! ����� ���0�, ���� R ���� ��� C�OC�C� K�
�!��!

���8�@/ �0 S�T U>�� $� �\�, �B ����
�

-	 1√� ��6	 XR :
; +�F	!�� .�
& @	� �! ����� ���0�, ���� R ���� ��� C�7C�C� .
"T�
�49� 7�
0 :
; +, ��	�

���8�@/ �0 S�T U>�� $� ���, �B ����
�

.�
& @	� �! ����� M +�*�/��$ +, ��	� �� ���0�, " �6Y
$ ���� R ���� ��� C��C�C� K�
�Z(R) = Nil(R) = M

��� /$ Z�Y %&�� R ���0�, ���� �� � *!4�� 5 -�� 
��7 - �&��8 
�9:, C��C�C� ��PQ
�49� ���0�, �6Y
$ [�� ���� !�� �� �
R�$ ���� $

���8�@/ �0 SjT U>�� $� j�, ��cO ����
�
��

��

�\



�����	
 ���
� ������� ������ ����

G��� �� ��	
� !��.&�� �5 ;.�� -	 �� R ���F	 " �	����� ���� '� Q +, ��	� C��C�C� L'	MB

1���� R ��9 +, ��	� Q ��6	 XQ � R �I

��
� �� ���� � ��! !
�" m ∈ N �� @	� �	 x ∈ Q ��� 7, xy ∈ Q ��� 1x, y ∈ R �� ���� �J
�ym ∈ Q ��

+"� +, ��	� -	 P =
√
Q .�
& @	� �! ����� R �	����� ���� �	�� �� +, ��	� Q ���� ���

�49� !��.&��D P +, ��	� -	 Q ��	
� �$ " 49� R

���8�@/ �0 S�T U>�� $� 4�� �B ����
�

����� R '� �	�� +, ��	� Q " P " ���� R �	����� ���� '� ��9 �), ��	� I ���� ��� C�3C�C� K�
+, ��	� Q/I ��� �O�0 " ��� 49� R �	�� ��D P +, ��	� Q .�
& @	� �! ��� /� I %$�� ��

����� R/I �	�� ��D P/I

���8�@/ �0 S�T U>�� $� ,�� F��<� ����
�

.��=� I !��.&�� 
�62� ����� R �	����� � ���� '� �� ��9 +, ��	� I ���� ��� C��C�C� L'	MB
��6	 X���� I ����� �� R �	�� �� ��� +, ��	� '� ���� $ !��60 C�� �� '� 49�
I = Q� ∩ ... ∩Qn : ∀i = �, ..., n; √

Qi = Pi

V49� �	�� ��D Pi +, ��	� Qi 1i �� ��'� �� �� 49� @	� �
\�$ �	�� ��� �� �� S
� .��=� ����� W
��� ��	
� �$ I ����4�� !��.&�� 
�62� �� �	K�0 @	�

1����� R K	�* $ +"� +, ��	� n 1P�, ..., Pn �I

�Qj � ∩n
i=�,i �=j

Qi 1����� � ��! j = �, ..., n �� ��'� �� �J
����� � ��! �	�� �� �	K�0 ��� 49� R �	]; �	K�0 +, ��	� I ��	
�

� ��! j = �, ..., n �� ��'� �� G!�! 7�8# 7�
0 �$ K�# �	' .�
& �� �� VJW U�� ���� ��
0
�����

I �= ∩n
i=�,i �=jQi

��



���$��� _�' ��

�49� ?'^ I = ∩n
i=�Qi �	�� �� �	��0 �! _!
�" HE�" �! " 4/�# �`�' Qj �]) "

���� '� ��	]; �	K�0 +, ��	� I ���� ��� �*!��.&�� 
�62� !��&�� 
�9: ��+'�, C�1C�C� ��PQ
��� �	K�0 " ���� R �	�����

I = Q� ∩ ... ∩Qn : ∀i = �, ..., n; √
Qi = Pi

"
I = Q

′
� ∩ ... ∩Q

′
n′ : ∀i = �, ..., n′

;
√

Q
′
i = P

′
i

" n = n
′ .�
& @	� �! ������ I +�*���$ �	�� �� �	K�0 "!

{P�, ..., Pn} = {P ′
�, ..., P

′
n}.

�)"� ��� +, ��	� ��
*�$ @��Q �� " I �"�>$ �	�� �� �	K�0 -	 ��� ��*� !��60 �<	! .��=� ��
?�*0 �! ��6	 X�#� %� /$ �"�>$ +�*���$ �	�� �� �	K�0 7, '� 1�#� �	K�0 ��� ��*� ��� +�F	!�� ��

��#� 7�/F	 I +�*���$ �	�� �� ��� �	K�0

���8�@/ �0 S�T U>�� $� �,�� �M�1� ����
�

�	K�0 " R �	����� ���� '� ��	]; �	K�0 +, ��	� I ���� ��� C�%C�C� L'	MB
I = Q� ∩ ... ∩Qn : ∀i = �, ..., n; √

Qi = Pi

@�)"� �� ��� �� �� {P�, ..., Pn} �
A� n ��
*�$ .�
& @	� �! ����� I +�*���$ �	�� �� �	K�0
�� " ��$�# �$ I 
� 
&���' �'� -�� �5 ;.�� - 
���2� 14/� K�# �#�<	 �	�� �� �	K�0 �	� F	 ��AE

���$�# �$ I 
� 
&���' �'� -�� �5 ;.�� �� ass(I) ���
A� ����! �$ 7�8# ass(I)

" ���� R ��0
# �	����� ���� '� ��9 �), ��	� I ���� ��� C�NC�C� .
"T�
�� ��
� �� ���� !
�
$ a ∈ R ��� �O�0 " ��� P ∈ ass(I) .�
& @	� �! �P ∈ Spec(R)

�� ��
� �� ���� !
�
$ λ ∈ R/I ��� �O�0 " ��� ��6	 X(I : a) = P

(� :R λ) = AnnR(λ) = P.

��



�����	
 ���
� ������� ������ ����

���8�@/ �0 S�T U>�� $� ���, ��cO ����
�

�� ���� R '� �), ��	� I " �)
$D���� $ +"�$D R -	 M ���� ��� �*�������% $+, C�OC�C� K�
�M = � ��� �$ Z��	� IM = M .�
& @	� �! �I ⊆ J(R)

���8�@/ �0 S�T U>�� $� ���, �B ����
�

�� 
�� 
��7

�� " �R ∈ S ����� ��	
� �!
&�� !�
# �� R �	����� ���� '� S ��
*�$�	' C37C�C� L'	MB
�s�s� ∈ S ����� � ��! 1s�, s� ∈ S �� ��'�

�� ��'� �� ����� R �	����� ���� � /� ���Y ��
*�$�	' S ���� ��� C3�C�C� K�
1�	' 5	�60 �� R× S �"� ∼ �B��� 1(a, s), (b, t) ∈ R× S

(a, s) ∼ (b, t) ⇐⇒ ∃u ∈ S : u(ta− sb) = �

�49� R× S �"� �'�� �� �B��� -	

���8�@/ �0 S�T U>�� 0.4�� �B ����
�

�'�� �� �!� (a, s) ∈ R × S ���� ����� ���E�� 1aI�I�I �! T	��� ���� ��� C3�C�C� L'	MB
.�
& @	� �! ����! �$ 7�8# S−�R �� �� ∼ �'�� �� ��� �!� ��
*�$ " a

s �� �� (a, s) %$��
+�*�� 4R0 S−�R

a

s
+

b

t
=

ta+ sb

st
,

a

s
.
b

t
=

ab

st

S �� 4=/# R -�� 
�� 
��7 �� S−�R ���� �49� �	����� �� ���� s, t ∈ S " a, b ∈ R ����
7, ���Y �#�*� 
A� " 49� ����� �

s �� s ∈ S �� ���� �� 49� �� ���� @	� �>& 
A� ���$�# �$
�49� ����� s

s �� s ∈ S �� ���� �� 149� ��
�!

�!



���$��� _�' ��

���8�@/ �0 S�T U>�� 0. ��4 �B ����
�

�1 / �/�? ���<M���$ J� S +�� -* PS = R − {�} 6 �E�/ m�`� �8��. R ��� C3�C�C� ,�U�
�D%� R ��	
 ���	!? @"(�� -�<� ���O. S−�R 6 D%� R $�

H0�� F�� 0. ��E�/ R ���M/�> ��	
 )6� )* +��� P ��83 f�Z C33C�C� ,�U�
��	
 S−�R �8A� ��� 3 ��	
 DB�
 F�� 0. �D%� R �1 / �/�? ���<M���$ S = R − P

R ������ 4MF+� $� 2��
 ��	
 �0 RP ��	
 �.�E �� +.�. -�^� RP �/ �3 D%� �A?�� (�
��8��� P )6� )* +��� 0.

S−�R .�
& @	� �! �S = R−Z(R) " ���� �	����� �� ���� R ���� ��� C3�C�C� L'	MB
����! �$ M	�*# T (R) �� " ��	
� R ���� ��� !&��: < �� 
��7 ��

7�8# ht(P ) �� �� P �4=��� � .�
& @	� �! ����� +"� +, ��	� -	 P ���� ��� C31C�C� L'	MB
+, ��	� '� �P� � P� � ... � Pn = P %F� �� ������#' +
� �*	�;
9 .�
& �� ��1���! �$

�!
� �$ 5	�60 ∞ ���=# !
�
$ ��� " ���� !
�
$ �*	�;
9 @	� ��� 1!
� �$ 5	�60 +"� ���
G!
� �$ 5	�60 �	' .�
& �� I =��� � ���� R ��
()! +, ��	� I ��� ��� 4)�� �!

ht(I) = inf{ht(P ) : P ∈ Spec(R), I ⊆ P}.

���#' +
� �*	�;
9 �� ����� !
� �$ �!�! 7�8# dim(R) �� �� R ���� ��."� 1@��Q ��
�!
� �$ 5	�60 R +"� ��� +, ��	� '� P� � P� � ... � Pn

�dim(R) = � " ���� ��0
# R ��� �O�0 " ��� 49� ���0�, R ���� C3%C�C� .
"T�

���8�@/�0 SjT U>�� $� ,�4 ��cO ����
�

��

�4

��

��



�����	
 ���
� ������� ������ ����

x ∈ B �
�� ��B ∈ A �� ���� B '� �� �����	' A " ���� -	 B ���� ��� C3NC�C� L'	MB
�! ��6	 ����� A �! b	��Y �� @�F0 �� ��*� ��Q -	 �8	� x ��� !
� �$ � >� �j>�?� A �"�

G��� S�& �	' ?�� �� �)!�6$ -	
xn + a�xn−� + ...+ an = �

'� �����	' -	 �� /� c�R& A �"� �� B �&��� '� C ��
*�$ ��� /� A '� ��&��� �� ai ��
@	� �! C = A ��� �!
� �$ � >� B �! A �,>�?�  �&�� C ���� " �!
� A %$�� �� 49� B
c�R& A �"� B ���� ��� 7, C = B ��� �!
� �$ � >� B �! �L
&�� >�?�  �@ 
� A .�
&

�!
� �$ � >�

�\;3 � 
��7 -	 R ����� 7, ����/� 7���$ K " c�R& ��$�! -	 R ���� ��� C3OC�C� L'	MB
�V "! �� �	 W x−� ∈ R �	 x ∈ R �	 � �= x ∈ K �� ���� ��� 49� K 7���$ '�

G��� 7, ����� V K ��6	W 7, ����/� 7���$ '� �'�� ���� -	 R ���� ��� C�7C�C� .
"T�

149� �6Y
$ ���� -	 R �I

149� K '� �'�� ���� -	 K�# R′ ��� 7, R ⊆ R
′ ⊆ K �� ��
� �� ���� ���� -	 R′ ��� �J

�49� � /� c�R& �
� �� VK �!W R �L

���8�@/ �0 SjT U>�� $� �,�4 +0�X� ����
�

��#�$ ��
; � ��<# K �"� �� 
&��A !���3 � -	 ����� 7���$ -	 K ���� ��� C��C�C� L'	MB
G�� ��
� �� 49� V K − {�} ���Y �"�� K� W49� v : K� −→ Z

V �49� ��"�� � (	�*� -	 v �<	! .��=� �� W v(xy) = v(x) + v(y) �I
�j

�,

�L

�\

��

�4



���$��� _�' ��

�v(x+ y) ≥ min(v(x), v(y)) �J

��
*�$ ��� 7, 1���� K 7���$ '� � //� ���	'�� -	 v : K� −→ Z ���
{x ∈ K�| v(x) ≥ �} ∪ {�}

�$ v ;3 � 
��7 �� ���� @	� �49� K 7���$ '� ;3 � 
��7 -	 HE�" �! " K 7���$ '� �����	' -	
���$�#

7���$ '� v ��#�$ � //� ���	'�� -	 ��� !
� �$ ���$�# 
&��A ;3 � 
��7 -	 R c�R& ��$�!
����� v �'�� ���� R �� ��
� �� ���� � ��! !
�" R '� K ����/�

�A?�� ��	
 J� R P4\���� +0�X� �/�8/ +�� -* P�E�/ �1  � +$0� ��	
 J� R ��� C��C�C� ��)�
+6]� �/ �v(x) > � �3 (0�W �/ D%� x ∈ K ���8� �<� ���<M� -* )�<� 3�� )* +��� 6 D%�

t+�� -* v(x) = v(y) ��� �8A� q�8E�/ -� #� u$0� (�0�. x, y ∈ R �a8� 6. ���
v(xy−�) = � =⇒ u = xy−� ∈ U(R) =⇒ (x) = (y).

J� �@���� u�7 2�� �/ �8/ P�E�/ R �1  � +$0� ��	
 0. �B* +��� I �= � ��� C��C�C� ��)�
.�>6 x ∈ I �8��� (�a8� 6 RD%��8/� �c� v(I) 0. k UO�6 0.V k �8��� m�`� .�� F��1#p�3
�;8� F���/�8/ �D � X�� v(y) ≥ k �3 y ∈ R �� 2��E I �3 ��. �� �M�1� F�� �v(x) = k �3 ��0�.
��M�$ 2�#^� �3 �81 �Mk = {y ∈ R : v(y) ≥ k} ��Z �/ ���� )* +��� R ����� (�� )* +���
v : K� −→ Z -�p +6]� �/ �D%� (���� R F���/�8/ �8�. �� �0 M ⊃ M� ⊃ M� ⊃ ... ���"�

D%�E�'
∃x ∈ M : v(x) = � =⇒ M = (x), Mk = (xk); (k ≥ �)

)* +��� �� �3 D%� � �A/ $� (���� �A?�� �8��. R 6 D%� R ����� )6� )* +��� �;8� M F���/�8/
-��8� �/ -��� �� �0 h��7 F�� $� (0�� / UO�6 0. �D%� M )�<� 3�� )* +��� $� ����� -* �����

�DZ�� �
� 0. �1  � +$0� (�� ��	
 �an^� h��7
��



�����	
 ���
� ������� ������ ����

" 7, +�*�/��$ +, ��	� M 1I �6� '� ��0
# �6Y
$ ��$�! -	 R ���� ��� C�3C�C� .
"T�
G�#'�� �� �	' ?�F�� .�
& @	� �! ����� R �� ��#�$ 7���$ K = R/M

149� � //� �'�� ���� R �I

149� � /� c�R& �
� �� R �J

149� ��&� +, ��	� M �L

1dimK(M/M�) = � �a

149� M '� �#�
0 �>&�# +, ��	� �� �d

�k > � �� 49� (xk) ?�� �� �>&�# +, ��	� �� �� ��
� �� !��! !
�" x ∈ R ��#�$ ��
�� �e

���8�@/ �0 SjT U>��$� ��L +0�X� ����
�

�/ �RD%� �B��v���81� -* )* +��� �� -�pV D%� (���� R �	�� )* +��� �8��. �� C��C�C� ,�U�
�� (��/ )�
 �D%� � �/ �/��/ R �A/ F���/�8/ 6 +.�/ )�<� 3�� R 0. ����� )6� )* +��� �� +6]�
�D%� (���� 6 �A?�� �	�� )* +��� �8��. J� X�� RP �A?�� ��	
 R $� P ����� )6� )* +���

�D%� �1  � +$0� ��	
 RP ��	
 P4����� +0�X� �/ �8/ l'

�O�0 " ��� 49� ��0
# R ��� 7, ����=# 7���$ �� ���� �'�� ���� -	 R ���� ��� C�1C�C� K�
����� � //� �'�� ���� -	 ���

���8�@/ �0SjT U>�� $� L 2aZ $� ! F��<� ����
�

��$B4�/M �
�� -	 �� x ∈ R �
�� ����� +"�$D R -	 M ���� ��� C�%C�C� L'	MB
���� ?
/�$ x �<	! .��=� �� �z = � ��� 7, 1xz = � ��� 1z ∈ M �� ��'� �� ����� ��$�# �$

����=# M �"� �>&
��

�j



���$��� _�' ��

����=# �	]; 7"��" r " r /∈ Z(R) ��� ��$�# �$ �!$B4�/R �� R ���� �! r �
�� C�NC�C� L'	MB

-	 �0 �!�9 �
� �� �	 $B4�/M �)�=#! -	 R �&��� '� x = (x�, ..., xn) �)�=#! C�OC�C� L'	MB
G��� S�& �	' T	��� �! ��� 49� ��
+��%�/M

����� �\�$D M
(x�,...,xi−�)M �
�� -	 xi 1i = �, ..., n �� ��'� �� �I

� M
xM �= � �J

�49� �)�=#!D R -	 �\�$ �)�=#! -	

R = S[X�, ..., Xn] (� �	<>�8p ��	
 0. �� )�;M� $� x = (X�, ..., Xn) �B�@�. C17C�C� ,�U�
�D%� �
8� �B�@�. J�

�� �� ��
� �� 49� R �&��� '� (r�, r�, ..., rd) �	�0D d -	 �4
+��%�/R -	 C1�C�C� L'	MB
����� �\�$D R

(r�, r�, ..., ri−�) �
�� -	 ri 1i ≤ d �� ��'�

�)�=#!D M -	 x = (x�, ..., xn) ��� ����� +"�$D R -	 M " ��0
# ���� -	 R ���� ���
@	������ �49� �!
6& ����� (x�) ⊂ (x�, x�) ⊂ ... ⊂ (x�, ..., xn) ���#' .�
& @	� �! 1����
�)�=#!D M -	 �� .�
& @	� �� �!�! _� /� +�*�/��$ �)�=#!D M -	 �� 7�
0 �$ �� �)�=#!D M ��
1(xn+� ∈ I) xn+� ∈ R �� ��'� �� ��� 49� VI �!W +�*�/��$ VI +, ��	� -	 �! +
*8$ W x

1���� �)
$D���� $ +"�$D R -	 M ��� ����=# +�*�/��$ �)�=#!D M -	 (x�, ..., xn+�) �)�=#!
��#��! 7�/F	 +
� IM �= M U�� �� I +, ��	� -	 �! +�*�/��$ ��� �)�=#!D M ?�*0

���� �), ��	� I " �)
$D���� $ +"�$D R -	 M 1��0
# ���� -	 R ���� ��� C1�C�C� L'	MB
�!
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�����	
 ���
� ������� ������ ����

�"� I ��
� � �� I �! +�*�/��$ ��� �)�=#!D M '� �#�/F	 +
� .�
& @	� �! �IM �= M ��
�grade(I,M) = ∞ ��� 7, 1IM = M ��� ����! �$ 7�8# grade(I,M) �� " ��$�# �$ M

�)
$D���� $ +"�$D R -	 M " ��0
# �6Y
$ ���� -	 (R,M,K) ���� ��� C1�C�C� L'	MB
����! �$ 7�8# depth(M) �� " ��$�# �$ M �jC�� �� M �"� M ���! .�
& @	� �! �����

�)�=#!D R +
� @	�0���� R �! I 
� � ����� R ���� '� �), ��	� I ���� ��� C13C�C� L'	MB
���� (R,M) ��� �f	" �� ����! �$ 7�8# grade(I, R) �� " ����� I �! �� 7, ��� �>)
$ �� ��
�$ �!�! 7�8# depth(R) �� " !
� �$ ���$�# R C�� R �! M 
� � .�
& @	� �! ���� �6Y
$

�!
�

.�
& @	� �! ����� ��0
# �6Y
$ ���� -	 (R,M) ���� ��� C1�C�C� .
"T�
�depthR ≤ dimR

���8�@/ �0 S�\T U>�� $� ������+0�X� ����
�

G����� � ��! R '� I +, ��	� �� ���� ����� ��	
� �, !+�� D�/���� �� R ���� C11C�C� L'	MB
�grade(I, R) = ht(I)

M� = HomR(M,R) 7��"! +"�$ ����� R �	����� ���� �"� +"�$ -	 M ���� ���
.�
& �� 7, �B��Y �� !��! !
�" Φ : M −→ M�� �6�=� 4��<# -	 ��#�! �$ � ��� �\# �! ��

G!
� �$ 5	�60 �	'
∀m ∈ M Φ(m) = Φm : M� −→ R, Φm(f) = f(m).
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